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1.  Toestimate the area under the graph of f(z) = zsinz from
z = 0 to x = 7 using four rectangles and the right endpoints
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dr =

/13w3+3:2—18x-—6
0 3z +1

4. f(tan T + cotz)dx =

(a) Initanz|+c
(b) In|cotz|+c¢
(c) In|secz|+c
(d) Inlescz|+c

(e) In|secx +cscz|+c
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5. Ifu(t) = (t —3) m/s is the velocity of a particle moving on
a line at time ¢ in seconds, then the total distance traveled
by the particle during the time interval [0, 4] is

(a) B5m

(b) 9m

(d)

4—3:2+C

(e) V4 — z?sin™! (g) +c




Math 102 T-093 Exam 1 Page 4 of 10 MASTER

o 2\ 2
7. T}L%§;(3‘g) =

8.  The area of the region enclosed by the curves y = VT,
y=x,z =0, and z = 4 is equal to
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If[l7f($)d$=5, then A4L@3—%ﬂdx:

©

10.  The area of the region enclosed by 2z+¢* =3 and z—y = 0
is
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11. The base of a solid is the region bounded by the parabola
y = 1 — 7% and the z— axis. Each cross section perpendic-
ular to the z— axis is a square. The volume of the solid is

16

WLl b COf v

12.  The volume of the solid obtained by rotating the region
T
bounded by the graphs of y = tanz,z = 1 and y = 0
about the z— axis is equal to
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13, [ (z+1) e+ dz =

(8) 5le—1)

14.  An expression for the area under the graph of
f(z) = 322 + 5z ,0 < z < 2, as a limit and using right
endpoints is
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15. ff(csc x)(3sin2x + Ssinz)dz =
£

16.  If the plane region enclosed by the graphs of ¥ = = and
y = 22 is revolved about the line z = —1, then the volume
of the solid generated is given by

(8) [ m(2vF-y— 1))y
) [ 7y~ Py

(©) [ m(ayg+6y - yP)dy
@ [ n(y—v*—2)dy

(@ [ m(2vF -6y —y’)dy
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17.  The equatgon of the tangent line to the graph of
_ [T — 13
f(ac)—fﬁe duatz=1Iis

(a) y—%x—%f
©) v= "2z
© y=20-%
(d) y—%ffv—g
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18. Ifk= f; e S"%dz then
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19.

20.

The value of f_:(ﬁl + 3sinz)vn? — 2% dr is equal to :
(Hint : write the integral as a sum of two integrals and
interpreting one of these integrals in terms of an area)

(a) 2n3
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